log (L*go/L*g0,) HAULAB lightness L* gg normalized
L¥L* gou to the background lightnesd *gg ,,
100-* =5(Y/Yy)" ~d (Yy=100)Y,=28,5=153,7, n=0,31, d= 53,7)[1a
L*=r (YIYy)"=d (r=s(Y/Yy)"=90,34,L% = r-d =36,6) [1h
L¥L* y=g(YIY,)"~h  (g=r/(r-d)=2,46, h=d/(r-d)=1,46) [1f]
log [(L*/L* y+h) /g ]=nlog {/Y,) = 0,31og(Y/28) [1d]
1210 In [(L¥/L* , + h) / g] = nIn(10)log(Y/Y,) = 0,71l0g (Y/28) [1e]

N

LHL* h — &In(10) log (v/Y,) — 0.71log {//28)
(LLry+hy/g]=¢& ¢ 0.608"
mp, =n=0,310 =30
Olllnulllllllllllll ,008 $=30
my = 0.614 Law_300cd/r%
* application
range
N 0,1 1 *-0,794 1Yp=18100 "y
-2 -1 0 ,, 1Yy=28 2 log¥




